Chapter 5 (pp149-159): Bounded Rationality and Private Information
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One main problem of economic organisation and management is motivation problem, which arises when individuals have their own private interests that are not necessarily aligned with interests of others.

Coordination problem is to determine how things should be done, who should do what e.g. who should make decisions which what information. Motivation problem is to make sure individuals involved in the process are willing to do their parts in the   whole undertaking. In other words, it is to motivate individuals (who are self-interest) to coordinate in the group/team.
To draw a link among different individuals’ interests, a contract
 may be used to modify individual behaviours in ways that are mutually beneficial.

In short, we have to motivate to coordinate ( through the use of contract ( but complete contracts don’t exist ( there is a motivation problem.

Complete contract—one that specifies precisely what each party is to do and what will be the distribution of costs and benefits for every possible contingency, so that each party finds it optimal to abide by its terms. Note that complete contract perfectly solves the motivation problem. By the same token, we have motivation problems in the reality because complete contracts cannot be practically realised.
Components of complete contract:

1) Each party must be able to accurately determine all the contingencies.

2) They must be able to determine and agree on the course of action for each contingency as well as the accompanying payment.
3) They must be willing to abide by its terms. This implies that no one desires to renegotiate the terms and each can independently determine if the terms are being met.

In practice, perfect contract is not feasible; it is fraught with limited foresights, imprecise language, costs of laying out the plan. This is bounded rationality, which in brief means all contingencies are not fully accounted for. Since all situations are not planned for, parties must adapt, which gives rise to a possibility of opportunism. Fear of opportunism may deter parties from replying on one another as much as they would have wanted do (moving away from efficiency). This is termed as imperfect commitment (i.e. perfect commitment cannot be attained due to the fear of opportunism)
“Complete contracts”( not feasible due to “bounded rationality” ( chance for “opportunistic behaviours” ( fear of this ( “imperfect commitment”
There is also a problem of private information. Most common situations in which private information can potentially interfere with the possibility of reaching value-maximising agreement are:

1. Adverse selection: information asymmetry ( private information (e.g. sellers of lemon know more than buyers) ( possible opportunism ( buyers sceptical ( inefficiency resulting from adverse selection
2. Moral hazard: after transaction ( cannot tell whether the agreements have been honoured (private information)( possible opportunism ( inefficiency resulting from moral hazard.
Contractual responses to bounded rationality

1. Spot market contracts: inflexible contracts with blanket provisions that are to apply broadly. Spot contracts are suitable for simple transactions that are quickly concluded e.g. buying a pen.
2. Relational contracts: contracts that settles for an agreement that frames the relationship. That is, the parties do not necessarily agree on detailed plans of action, but on the objectives. E.g. Two companies collaborate on a research work that will ultimately benefit both of them.
3. Implicit contracts: Contracts that contain the component of shared expectations that parties have concerning the relationship. E.g. corporate culture—in 3M, you feel the vibrancy of innovation and creativity everywhere although it may not have been stated as a mandatory qualification in the employment contract.

How contractual incompleteness can harm you

1. Commitment and reneging: Commitment can effectively influence other’s expectations about your behaviour and thereby behaviour they adapt. Commitment obviously can potentially bring a great deal of benefit to the committed party 

In the context of contractual incompleteness, there may be some problems. Specifically, you may renege because what should be done in various circumstances is left unstated or ambiguous and open to different interpretations. You can perhaps claim that you have done according to what was agreed upon (you have taken advantage of the ambiguity).

Obviously, when this can happen, your commitment may not have much value in the first place. For instance, the other party may fear of reneging, so they do not adapt their action as much as they were supposed to.
2. Ex post renegotiation (ex post haggling): The second commitment problem is that it may be advantageous for both parties to renegotiate the contract ex post because what was efficient then may not be efficient now. If they anticipate this, they may not be able to craft the contract that incentivises optimal behaviour now.
Investments and Specific Assets

Investment is an expenditure of money or other resources that creates a potential continuing flow of future benefits and services (i.e. future free cash flow).

Specific assets are those that are most valuable in one specific setting or relationship. 

Co-specialised assets those that are most productive when used together and lose much of their value if used separately.

Example: coal mine and the electric plant. The mine and the plant are cospecialised assets. The mine is the plant’s only supplier and the plant is the mine’s only customer (let’s suppose there are no other mines or electric plants nearby).
Hold-up problem: the situation in which each party to a contract worries about being forced to accept disadvantageous terms later, after is has sunk an investment.

But please note that hold-up problem wouldn’t have arisen if the complete contract could be enforced. It is specificity of assets together with imperfect contracting that lies at the core of hold-up problem.

A mathematical example of the hold-up problem: (Similar to one question in exercise 1)
Setting: -2 firms (A and B)


 - Each has made relationship-specific investing which costs 2 each


 - The investment has gross return of 8


 - Each can choose to take opportunistic action which, if the other party does not do the same, may give him/her the whole rent.


 - Thus, the payoff matrix can be illustrated as follows:
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-By calculating NE, we see that the result is (-1,-1) –both will always grab the opportunity.

-This case is similar to prisoner’s dilemma. The only difference here is that each party can choose to stay out of the investment in the first place if s/he anticipates the imminent opportunism activities.

Possible solutions to contractual incompleteness

1. Relational & implicit contracts

2. vertical integration

3. Commitment—e.g. Cortes burned the ships when invading Mexico. I think the situation for commitment over here is different from the one mentioned earlier. That is, this commitment of yours (Cortes) limits the flexibility of the other party (his soldiers). Please let me know if you have different view. 
4. Reputations: the concern of getting bad reputation that reduces future possibilities for profitable transactions can limit reneging.

The value of reputation depends on the following three ingredients:


-The frequency of similar transactions in the future.


-The horizon over which similar transactions are expected to occur 


-The profitability of each transaction 
� This is an economic term that refers to a compact or covenant among people. It need not have legal power. As a result, a contract is then just an agreement which participants will comply if only they find it advantageous (individually and mutually) to do so.





